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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

Fierce winds and deadly waves were only one ~————--—-- many explorers like Christopher
Columbus confronted when sailing to unknown lands.

1) suspension 2) obstacle 3) shortage 4) variation

In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers ------------ - to find new supplies.

1) discouraging 2) refusing 3) invading 4) struggling

The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This —=—eeeeeeeeee- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the --—eeeeeee- ---- ¢ffects on the environment as
much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary

Like most successful politicians, she is pertinacious and single-minded in the —----eeeveeeeee
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement
Knowing that everyone would -------ve——-- after graduation, she was worried that she
would not see her friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge

Certain mental functions slow down with age, but the brain -------—----—- in ways that can
keep seniors just as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes

It is argued by some that hypnosis is an effective intervention for ---—--—---- pain from
cancer and other chronic conditions.

1) displacing 2) alleviating 3) exploring 4) hiding

Children who get —---eeeeeee- -- atmosphere at home for studies perform better than

students who are brought up under tense and indifferent family atmosphere.
1) favorable 2) valid 3) obedient 4) traditional
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10- The post office has promised to resume first class mail —--——--m-- --to the area on
Friday.
1) attention 2) progress 3) expression 4) delivery

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) ~—=—=m=em=—- 1970, she
completed her first performance with Hommage a Delacroix, (12) was
the beginning of an artistic career (13) ----==-s--=—--= to the oneness of art and life.
(14) -----==---—----_ actions and performances on streets and public squares, followed by
her "living environments” and the "windows". (15) ~===emmemm- --— in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) thatit 2) which 3) that 4)it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with 4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

There are two types of agricultural crop residues. Field residues are materials left in an
agricultural field or orchard after the crop has been harvested. These residues include
stalks and stubble (stems), leaves. and seed pods. The residue can be ploughed directly
into the ground, orburned first. Good management of field residues can increase
efficiency of irrigation and control of erosion. Process residues are materials left after the
crop is processed into a usable resource. These residues include husks.
seeds. bagasse. molasses and roots. They can be used as animal fodder and soil
amendment, fertilizers and in manufacturing. Nutrients in most crop residue are not
immediately available for crop use. Their release (called generalization) occurs over a
period of years. The biological processes involved in soil nutrient cycles are complex. As
a rough guide, cereal straw releases about 10 to 15 per cent of its nutrients and pea
residues release about 35 percent of their nutrients by the next year. The speed of
generalization depends on the nitrogen and lignin content, soil moisture, temperature, and
degree of mixing with the soil. N is released fairly quickly from residue when the content
is higher than 1.5 per cent. In contrast, below 1.2 per cent. soil-available N is fixed (called
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16-

17-

18-

19-

20-

immobilization) by the microbes as they decompose the residue. Thus pea residue would
have short- and long-term benefits to soil fertility, whereas cereal straw would reduce next
year's soil supply of available nutrients. Over time. the nutrients fixed by soil microbes
and humus are released and available to crops. Nutrients from residue are not fully
recovered by crops. Just like fertilizer nutrients, nutrients released from crop residue into
the soil are susceptible to losses such as leaching, denitrification, immobilization, and
fixation.

It is stated in the passage that —--—--eeeeuev >

1) process residues are the materials collected from crop processing
2) pea residue has over seven short-term benefits to soil fertility
3) soil-available N is fixed by | per cent of soil’s microorganisms
4) generalization occurs faster in pea residues than cereal straw
The passage points to the fact that ——---——-eeeeev A

1) seed pods are among field residues

2) crop use depends heavily on crop residue

3) husks have very little nutritive value

4) microbes fix the soil’s needed humus

According to the passage, e

1) process residue denitrification happens very quickly

2) fertilizer nutrients are not immune to immobilization

3) orchard residues release far more N than field residues

4) field residues cannot be ploughed directly into the ground

We understand from the passage that —

1) soil’s lignin content is an index of its moisture

2) field residue lowers the efficiency of irrigation

3) animal fodder is often used for soil amendment

4) processes involved in nutrient cycles are simple

The word *stubble’ in the passage (underlined) is closest 10 —---emeueceaaee,
1) ‘root’ 2) *branch’ 3) “straw’ 4) *trunk’
PASSAGE 2:

Deepwater rice is rice grown in flooded conditions with water more than 50 ¢cm deep
for at least a month. Rice has adapted to deep water in two ways known as traditional
talls and floating rice. Traditional talls are varieties that are grown at water depths of
between 50 ¢m and 100 em and have developed to be taller and have longer leaves
than standard rice. Floating rice grows in water deeper than 100 ¢m through advanced
elongation ability. When submerged this allows it to grow as fast as 25 cm a day to
reach a length of up to 7 m and survive in water as deep as 4 m. Floating rice is
planted in dry ground and allowed to establish as young plants. The area becomes
flooded which tiggers the rice's elongation ability. This means when a field where rice
is growing floods, accelerated growth in the internodes of the stem allows the plant to
keep some of its foliage on top of the water. The stems are hollow and this allows gas
to be exchanged between the plant and the atmosphere. Once the flooding ends the
plant is left lying on the ground. The nodes at the top of the plant then start growing
upwards due to gravitropic sensitivity. The elongation is triggered when the plant is
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21-

22-

23-

25-

submerged through a mechanism involving ethylene gas. Ethylene is normally
produced by plants and diffused into the air but when floating rice is submerged in
water this process is disrupted as the gas moves more slowly into water. This leads to a
buildup of ethylene in the plant. This triggers the production of a hormone called
gibberellin which causes the rapid growth in the plant. When the plant reaches the
surface the ethylene gas can escape as normal and the rapid growth stops.

The passage mentions that with regard to floating rice that
1) it does not need gravitropic sensitivity for its early growth

2) its topmost nodes do not grow before the flooding finishes

3) it grows together with traditional talls in 50-cm deep water

4) up to one third of the fully-grown plant is on top of the water

We may understand from the passage that --—-ceeeceeeeee,

1) production of gibberellin stops once the floating rice reaches the water surface
2) shallow water can negatively affect the submerging process of floating rice

3) traditional talls grow as fast as 25 ¢cm a day to reach a length of up to 7 meters
4) deepwater rice is rice grown in flooded conditions for a maximum of one month
The word ‘this’ (underlined) in the passage refers to -----—-- "
1) *growth in water’ 2) “elongation ability’
3) “deep water’ 4) “floating rice’
Which of the following is not correct, according to the passage?

1) floating rice stems have two narrow canals

2) floating rice is not planted in wet ground

3) standard rice has shorter leaves than traditional talls

4) the ethylene produced by plants diffuses into the air

The word ‘trigger’ in the passage (underlined) is closest {0 —=-eecmeeeeaees,
1) “keep’ 2) *increase’ 3) “limit” 4) *start’
PASSAGE 3:

The maturing ovule undergoes marked changes in the integuments, generally a
reduction and disorganisation but occasionally a thickening. The seed coat forms from
the two integuments or outer layers of cells of the ovule. which derive from tissue
from the mother plant, the inner integument forms the tegmen and the outer forms
the testa. The testae of both monocots and dicots are often marked with patterns and
textured markings. or have wings or tufts of hair. When the seed coat forms from only
one layer, it is also called the testa, though not all such testae are homologous from
one species to the next. The funiculus abscises. the scar forming an oval depression.
the hilum. Anatropous ovules have a portion of the funiculus that is adnate (fused to
the seed coat). and which forms a longitudinal ridge, or raphe, just above the hilum. In
bitegmic ovules both inner and outer integuments contribute to the seed coat
formation. With continuing maturation the cells enlarge in the outer integument. While
the inner epidermis may remain a single layer, it may also divide to produce two to
three layers and accumulates starch, and is referred to as the colourless layer. By
contrast the outer epidermis becomes tanniferous. The inner integument may consist of
eight to fifteen layers. As the cells enlarge. and starch is deposited in the outer layers
of the pigmented zone below the outer epidermis, this zone begins to lignify, while the
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cells of the outer epidermis enlarge radially and their walls thicken, with nucleus and
cytoplasm compressed into the outer layer. These cells which are broader on their
inner surface are called palisade cells. In the inner epidermis the cells also enlarge
radially with plate like thickening of the walls.

26- The passage points to the fact that the ———--eeeeeeeue,
1) funiculus abscises form scars the oval depression of hilum
2) integuments are most of the time only subject to thickening
3) “inner epidermis” sometimes turns into the ‘colourless layer’
4) enlarged cells of starch are deposited in non-pigmented zones
27- It is stated in the passage that - A
1) the testae of monocots, like those of dicots, may have wings
2) all testae are usually homologous from one species to the next
3) adnate fuses to the seed coat and forms several longitudinal ridges
4) inner epidermis cells have to decrease in size to thicken their walls
28- The passage mentions that seed coat formation depends on —=-----eeaeeeee,
1) both inner and outer integuments in bitegmic ovules
2) anatropous ovules which have a portion of funiculus
3) the inner epidermis with its remaining single layer
4) some of the fifteen layers of the inner integument

29- The words ‘These cells’ in the passage (underlined) refers to the cells of the ——----—eceeeeev .
1) *surface palisade 2) “nuclear cytoplasm’
3) “starch deposits’ 4) “outer epidermis’

30- The word ‘depression’ in the passage (underlined) refers to *a part in a surface which is
e compared to the rest’
) “pointed’ 2) “flat’ 3) ‘lower’ 4) *higher’
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